'f;E EC/R:‘V’)\W m“\ 9l'u\ fi%‘\?\\
H 5o %ﬁwﬂf.,@?ﬁz‘ii
Eﬁ\“o,oensai VPGE?S\EU)N\\\
E p* elpsed cot- & QE CE.

& 1P ICE TP L nuidt 2k PEE

%@-Pﬁfi £:X >YoF a4t ARt ¢
T %

Dc®R? £:D>PR BE%

DoP—2Praes F(P)>2cR

<“:’§ Ve >0 kst 1L73FS >0 st
D<d(PL)<S 133 [P -01<E



RIS B Fz,9)= TINTP+E ((1,9)40,0)
NAREIE @D

L=Xcos®, I=Xsin®

(2,3) - (0,0) = Tt >0

‘FCI cos8, Tsm8) = L as®sal — O <t -0)
5:7, (1,920 0cx 02 @B1E1F O. ,
%12) £(2,3) = 13/(1>+4*) _\*A
L=XnsB, Y =Lsin® = &C. °
}(xw.e, () = (‘}3395?\9-‘—’%3""9-9

BolBrs2 1O002%0) Lint PV B3
(2,9) =(0,0) 0 £% 45 TR/B. & B F L),




% F1,9)= s (555) ([(19%+0D)

F(t wsB, £ 5inB) = Cﬂs(—{:-cmb). (0sB<wm)
=3, lmmtﬁ' = 1. £-0)
e¢125,§1c nr% QEB R LK esE, [uﬁ%f”’*m

wsd >D=93.

‘&w 3




P19 232 9 (R* veysipn)
PP orx f(B) prdREFZ
> Do wlREF3 AT {5 (Palo) K FF LT
{2} HiR% g3
FEH)(=>) FB) = A (P> P) =33
£33 Pr 9P, 0z £(B)> A (M ->00)
S Ye>0o st Nen sd. mzN
53 [ F(B)-Al<E
R : (&) 5A (2 -2
= Ve >0 V~5=\'L7.387D si. d(B, Pk S
o IT(R)-Al<e g
Pa Lo (N=00) & EDH 0 r5tl1,3N e IN
st. MmNl d(Pa.ko) < &



.7, €'=8 e ®<e, "NEN 1. MZN

735 18 d(Pn,Po)<S. LS (D) —Al<E.
(&) St l:REZ 0T 213, 7BRAE 1583 { L)
DRHDFZKESN.O W03 ¢ Bt 7
o nE2IEAE1EBE ¥ Lk TP,
= %0 fmtt Az T3

STep2 T -5A (P-P)EPR R T T+RY

=P tEE T Bip CABEYOELELE,

S>D t5FCe Ny "

B 3 e D AT, EAT DD T e
23< VP BV



Step2: T(BY-SA (PP ERRL 1T
HIBLTETD BIR CANE O EE,
S0 E2F N -
% " 532020 BN, AN BP0 T
53 VLBV

= J¢, 50 st. Y8 >0 k5L, 2 Ps st

L(Ps.Bo)< & T Ha v If(Rs)—Al 2 €0

Y2 S=7k e <, FPa sd. d(PoP)<
| $(2) - A] 285. =33 Pa—> Po (Moee)
W07, REL) 4(B) oA (Maod) T



720 279 11 (R-version)
PP oex £(R) pda®E 93
& Yeyor#L7,78>0
s4. A(P,Po)< S 7msh" |R(2)-f(P)) < €.
d(P, P&
220) () eosy f(2) 9A 25

(D) - ) [ST{@-AI41E(PI-A]
M

(&) P =P R ArdE 32T
13 SO R2 ) {feN I~ h3
2 HYNH 3. /



Lro—k P8R PI1se ) 9
Lom $1,9=A B ET BT 3.

(1 ‘”",(alb)

20t%, M{&»H’lm A= L«»{M—F(w)},

10 Y43b Y-ab 10

t Rt (ER0BEEHF IR Y)
R 4R (T3 03)

—_— Xo o
I o o) "4 5 o) Dimdk

Lim F (20 % R HSh¢

1-5%+0 ’15 ﬁm e\

To—0

. To=0 0 2% (4 ﬁw 'F(‘.l) e D

5+0
T -0



S4B 5% E %2
fce) o P 1B 52 & Ldf(lz) $(Po)

— Ye>ornsAL2 £k
3870 st. d(P,2)<S D () -f(r)<E.

R*a &AL 0h: _
EcR® /o BF o BAEA 0= BZ %A
v & AN,

CCcR R v, 3¢ y:[o,11 >R
£ &I . C={(9m), ¥): telo, )
eH3IeT LV

(L e A

(@,¥%)




DCR* o ()85 v&.VP,QeD
LA NE PCcD iR «t.C13P,Qt
£ P, NSO
OD
% 5 o

P @ign O

o
Z 72 (@K (8 B EZ72: R versmn)
EcR BRRERES =33

P ESR 8 FH F\IHAIETHR)
St ErrtEREBIMEELS
1.e., B.Pmo\x E-'E, B.Pm'.ne E St.

£ (Pmax) Z £CP) 2 €(Puw) for VP EE.




